e TR SR 2B 2017 b LSt AR SR8 K25 20 R

5 4 FrJE— SRl | L5 6 MGt | K50 L B
1 FriE b2 TR 102.395 e 3000
2 FEHARS e TR 102.259 —5 3000
3 ELES b2 TR 102.228 e 3000
4 TkFE | HETREHEA | 101.945 & 3000
5 g |t TRESHA | 101.919 —% 3000
6 REE |t THESHEA [ 101.722 — 3000
7 EE= TR 101.439 A 2000
8 MW [t TFESHA | 100.229 e 2000
9 S g fh2 TR 99.841 ke 2000
10 fEwean | 2 THESHOR | 99.36 g 2000
11 XISrE | TRESHEA | 99.085 —5% 2000
12 JriE [ TREEHEA | 98.651 - 2000
13 iHiEET | W TRESHER | 98.169 — ok 2000
14 T EIJR AW 97.973 — 2000
15 T | TRESHOR | 96.975 =k 1000
16 HFER | P TRESHEAR | 96.364 =% 1000
17 s |t TREEHEHA | 95897 —% 1000
18 g AR e TR 95.514 = 1000
19 Vidnen | 2 THREHEA | 95.243 =% 1000
20 mlEE [ TREEHEA | 95231 =% 1000
21 F& b2 TR 94.77 = 1000
22 XIRF | TRESHA | 94.505 —% 1000
23 X3CAg | s TR SHOR | 94.365 —% 1000
24 FREM | A2 TR SHEOR | 93.535 =% 1000
25 ZER | W TESHEAR] 91.399 —% 1000
26 et | e TREESH AR | 91182 =% 1000
27 sk FH e TR 86.549 =&k 1000




